SM3H 4.5 odd answers

1. yes

3. a.)no b.)yes

5.a.)yes b.)yes
7.{(2,-2),(6,-1),(8,0),(-3,1),(9,2)}
Domain: {—3,2,6,8,9}; Range: {—2,—1,0,1,2}
9-10 work is the answer
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13. f7l(x) = X*%. Domain: (—o0, )
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15. f71(x) = _;T_;,' Domain: (—oo, 2) U (2, )
17. f~1(x) = x% + 2; Domain: (—o0, )

19. f~1(x) = Yx — 4 ; Domain: (—oo, )

21. f71(x) = Vx — 6 + 1; Domain: (—o0, o)
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27a. 1
27b. —1
27c. 1.5
27d. 1

29. Domain: [0, ); Range: (—oo,0]
31. Quadrant |

33. x? — 14x + 49

35. f(x) =x(x +4)(x — 2)

37. 5(2x + 3y)(2x — 3y)



